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B.Com. DEGREE EXAMINATION —
JUNE 2010.

First Year
Bank Management
PRINCIPLES OF ACCOUNTING

Time : 3 hours Maximum marks : 75
SECTION A — (3 x 5 = 15 marks)
Answer any THREE questions.

1.  What is accounting? Why is it required?
SEMEEWLL — TRDID  eTelar? DG THDSTS
CaanauliLi(hdmg)?

2. Explain a trial balance.

@muy Cerganens L iguiena edlel.

3. What is convention of consistency?

QarLiElggemanto Lor6lLM(LYBIE eTeTMmTe) 6TEme?



The drawings of a proprietor for the year 2009 was
Rs. 30,000. Profit for the year Rs. 50,000 and
capital at the end Rs. 1,40,000. Calculate the
capital at the beginning.

em o fawwrerflar 2009 oya@rhsster  erHLL
5. 30,000.9i65 < am(ssrar @aorud . 50,000pbd

@migl s m. 1,40,0000pd @ b. GSTL&8 (pFSnavs
FeTsE ().

From the following calculate the amount of claim
in respect of a fire that occurred in a business on
31.12.09.

Rs.
Sales 1.4.09-31.12.09 12,00,000
Purchases 1.4.09-31.12.09 8,00,000
Stock 31.3.09 2,00,000
Gross profit 25% on sales

31.12.09 § Augs gpulLeos AGSH Gereumbd
elleurmigafler g lent_ulled Camilgans
QeiwGeauargw sTiSl (g Qgrasamw saumss (Hs.

€.
elpuenar 1.4.09-31.12.09 12,00,000
Qamarpse 1.4.09-31.12.09 8,00,000
sradmyiy 31.3.09 2,00,000

Qg @emueilflgnd — 25% eflhHueamearGod
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SECTION B — (4 x 15 = 60 marks)

Answer any FOUR questions.

From the following particulars prepare a receipts

and payments account.

Cash in hand

Cash at bank
Subscription received
Donation received
Investment purchased
Rent paid

General expenses
Postage expenses
Sundry expenses

Cash balance at the end

Gemeumpd  edlupmisefladmhg  CUnIED

sardEleanen swMT Clguils.

€.
angudlmLiL 100
cumidludlmLiy 500

Cegisg s
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FhsT QUDLILLL g 3300
QarenL QupliL’L g 260

WSO B uTRISLILL L g 1,000

aurLens Csassluig 400
Qurg Qe ser 210
LT Qe 70
Smi Cee|ser 30

@migl emsudl s Csrens 20

Nataraj book shows the following balances.
Prepare his trading and profit and loss account for
the year ended 31st March 2009 and Balance
Sheet as on that date.

Particulars Debit Credit
Rs. Rs.
Stock (1.4.09) 15,000 —
Purchases 13,000 —
Sales — 30,000
Carriage inwards 200 —



Particulars Debit Credit

Rs. Rs.

Salaries 5,000 —

Printing and Stationery 800 —

Drawings 1,700 —
Creditors — 2,000
Debtors 18,000 —
Furniture 1,000 —
Capital — 25,000
Postage 750

Interest 550
Machinery 4,000

Loan 3,000

60,000 60,000

Adjustments :

(a)

(b)
(©

(d)

Depreciate machinery by 10% and furniture
by 5%.

Allow interest on capital at 5%

Provide 5% for bad and doubtful debts on
debtors

Stock on 31.3.09 Rs. 12,000.
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BL_[TTs) ghsefledl(mbgl 19 6tm6u (LD @ muyser
ahssiulLar.  31.3.09 GCzdCur® pyeumLbs
SeTgHE edwrury wOHML @Qeru BLLd SaT&Emes
surt  Celg  5CzHled o dmary @@Ly
Blenas@miilenanyb swrflés

eleuhiger L) cuTeY
€. .
gradmLy (1.4.09) 15,000 —
QameTpgen 13,000 —
ipLiene — 30,000
2 GTGI1%HEE g6l 200 —
FLDLIGTLD 5,000 —

9IFFE FneULD 6T (L& LIM(TH(EHLD 800 —

er(Hiy 1,700 —
sLATBCHTTEET — 2,000
SL_anme&eT 18,000 —
LenETSHGIenenTLl Ol Lim(meT 1,000 —
PSD — 25,000
LT QFey 750

eul iy 550

@uipE b 4,000

L@ 3,000

60,000 60,000
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FMN&HL_L_O&ET :

(@) Cswwrand Qupdrsdear Bz 10 gseidsb,
wevanggienenti Qumefler 5g 5 sgaiflgbd

@S5S
(<) s B3 el iy 5 s5608s50 endss
(@) sLemeflger g U &S LG0T LOHMID

BWEHL_I&HEHTE O 556N8151D 62816 E5.
() Fpsdlmiy 31.3.096 Lig ep. 12,000.

A machine was purchased on 1st July 2006 at a
cost of Rs. 14,000 and Rs. 1,000 was spent on its
installation. The depreciation is written off at 10%
on original value every year. The books are closed
on 31st December each year. The machine was
sold for Rs. 9,500 on 31st march 2009. Show the
machine A/c for all the years.

@ @Qupdrb, . 14,000 @i sselenauid, sOama
Wz Gzl 2006 b e eurmsliul L g ep. 1,000
Bliroreng dgwey Cewwliul L gl eeibeurm e
Spar < rdu afeveudéd  10%  Csuiwmard
Basliu®dng. eaCeurm <war@®b gabur 31 @6
ST GL LSSSmI&ET (Pl96|5G5 Q& mesor(p)
aurliu(hdeammer. oibs smedl wrrg 31, 2009 b GCsdl
ap.  9,5008@ elpuemer CewwdiulLg.  ereeom
AT (NS @B ESTE &(HeNEET &/ @ SWTT ClFus.
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9. From the following details, prepare departmental
trading accounts.

Department A Department B

Rs. Rs.
Opening stock 9,000 8,400
Purchases 27,000 21,600
Sales 42,000 36,000
Closing stock 10,800 4,800

Gemeupd ssHeudsaflad(mhgl geppeurfluimer afwimumy

SETHEMSHS SWTTESH6LD.

gop A geon B
Rs. Rs.

ST FTEHE (HLILY 9,000 8,400
QameTpgen 27,000 21,600
ellhLIen e 42,000 36,000
@nds srafmuy 10,800 4,800

10. Anand consigned 400 radio sets to Selvam costing
Rs. 1,000 each. Anand paid Rs. 5,000 towards

insurance and Rs. 10,000 for wages. Selvam
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received the consignment and spent Rs. 3,000 as
delivery charges and Rs. 1,500 as freight charges.
Selvam sent the account sales according to which
260 radio sets were sold for Rs. 1,150 each, 120
radio sets for 1,300 each and 20 sets for Rs. 1,250
each. After deducting 10% commission on sales,
the remaining amount was sent by a demand draft

by Selvem. Give journal entries in the books of
Anand.

aps Uil popdd  Csbasdbd
400 aur@enmadl Quiigsener, ¢ Guiig ep. 1,000 aigb
Sielermi. ebs STULSL(HES ep. 5,000pLd gnelldE,
5. 10,0000pd Ceqsdermt. Claweud el enL L
Qupm, @n&Es el . 3,000 @b, sliupFeODs
s Lanrd em. 1,500 Qegugdlanm. Qadeuid 6flhLemens
sasand  S@ilidemmi. geruy 260 eurGermell
Quig seT e €. 1,150 aispLD,
120 eun@ammed Quiiigser qary ep. 1,300 eisupid,
20 eun@aenmel Quiiigser earmy e 1,250 eigpid
efpmerarmi. Geeeud, elpuemer WSsrewr 10% HrE
ThsssCsTa(H  Bsupdter  QsrenssE  eumlL
uanrellen  eT(HSFH S@lilenTi. pearps  er(Hsartied
GHMUGUL HLLSegmars H(mHs.
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11.

12.

Explain any five Accounting concepts.

gCasa@id  mbg  samsdud  CUTGIGESHSSHEHmaT
cMlemd@s.

What are the limitations of financial accounting?

sardSwedler @GemUTH&ET WTeameu?
&
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